Putnam: Division of Labor
Thought Experiment Two: Twin Earth -- Aluminum
· Suppose that aluminum can’t be distinguished from molybdenum pans except by an expert.

· Suppose that neither Oscar1 nor Oscar2 are experts.

· Suppose that on Twin Earth, molybdenum is as prevalent as aluminum is on Earth.  Specifically, pots and pans are made of molybdenum rather than aluminum.

· Metallurgists, a subset of the linguistic community, can tell aluminum from molybdenum.

· Suppose the words ‘aluminum’ and ‘molybdenum’ are switched on Twin Earth such that, on Twin Earth, pots made of molybdenum are said to be aluminum pots, etc.

ARGUMENT THAT INTENSION DOESN’T DETERMINE EXTENSION

Premise:  Oscar1 and Oscar2 would be in the same psychological state when they use the term “aluminum.” 

Premise:  The extensions of the words “aluminum” on Earth and “aluminum” on Twin Earth are different (i.e. it is aluminum on Earth and molybdenum on Twin Earth).

Conclusion:  The intension of a term does not determine the extension of a term.
Thought Experiment Three: Earth – Elm and Beech 

Premise: Putnam’s concept of a beech is identical to his concept of an elm. 
Premise: The extension of the term “elm” is different from the extension of the term “beech.”
Conclusion:  The intension of a term does not determine the extension of a term.
A Sociolinguistic Hypothesis 

ARGUMENT THAT THERE IS A DIVISION OF LINGUISTIC LABOR

See the Aluminum/Molybdenum thought experiment and the elm/beech thought experiment.

Also see the case of gold

We could hardly use such words as ‘elm’ and ‘aluminum’ unless some one possessed a way of recognizing elm trees 

Premise:   Even if there is no intension, words clearly have extensions and how they are determined is part of linguistic labor (a matter for semantics).
Premise:  The features that are generally thought to be present in connection with a general name – necessary and sufficient conditions for membership in the extension, ways of recognizing whether something is in the extension, etc. – are all present in the linguistic community considered as a collective body; but that collective body divides the “labor” of knowing and employing these various parts of the “meaning” of ‘gold.’ (422)

Conclusion: There is a division of linguistic labor. 

Conclusion:  When a term is subject to the division of linguistic labor the average speaker who acquires it does not acquire anything that fixes its extension.  In particular, his individual psychological state certainly does not fix its extension; it is only the sociolinguistic state of the collective linguistic body to which the speaker belongs that fixes the extension. (423) 
Conclusion:  Words are the sort of tool that it requires more than one person to use.

